
Year 5 
Quick Maths

Autumn – Week 1



1 870 + 229 = ______ /1

2 477 – 28 = _____ /1

3 24 × ______ = 2,400 /1

4 56 ÷ 7 = ___ /1

5 2,347 rounded to the nearest 1,000 is ________. /1
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1 870 + 229 = ______ /1

2 477 – 28 = _____ /1

3 24 × ______ = 2,400 /1

4 56 ÷ 7 = ___ /1

5 2,347 rounded to the nearest 1,000 is ________. /1
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1,099

100
8

2,000

449
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1 5,568 + 23,046 = _________ /1

2 3,507 + _____ = 4,000 /1

3 39 × 5 = _____ /1

4 Subtract one hundred and four from three 
hundred and thirty-one = _______ /1

5 259 = 359 – _____ /1
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1 5,568 + 23,046 = _________ /1

2 3,507 + _____ = 4,000 /1

3 39 × 5 = _____ /1

4 Subtract one hundred and four from three 
hundred and thirty-one = _______ /1

5 259 = 359 – _____ /1
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28,614

195

227
100

493
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1 1,200 = 4 × _____ × 100 /1

2 Forty-two thousands and nine tens = ________ /1

3 _____ = 377 ÷ 1 /1

4 560 ÷ 7 = _____ /1

5 10,000 – 5,718 = _______ /1
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1 1,200 = 4 × _____ × 100 /1

2 Forty-two thousands and nine tens = ________ /1

3 _____ = 377 ÷ 1 /1

4 560 ÷ 7 = _____ /1

5 10,000 – 5,718 = _______ /1
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3

377
80

4,282

42,090
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1 7 × _____ = 84 /1

2 62 = _____ /1

3 24 ÷ 2 = 3 × _____ /1

4 3 × 8 × 4 = _____ /1

5 3,694 + 1,470 = _______ + 3,470 /1
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1 7 × _____ = 84 /1

2 62 = _____ /1

3 24 ÷ 2 = 3 × _____ /1

4 3 × 8 × 4 = _____ /1

5 3,694 + 1,470 = _______ + 3,470 /1
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12

4
96

1,694

36
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1 8 × _____ = 88 /1

2 42 = _____ /1

3 36 ÷ 2 = 2 × _____ /1

4 2 × 6 × 7 = _____ /1

5 5,817 + 1,780 = _______ + 1,817 /1
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1 8 × _____ = 88 /1

2 42 = _____ /1

3 36 ÷ 2 = 2 × _____ /1

4 2 × 6 × 7 = _____ /1

5 5,817 + 1,780 = _______ + 1,817 /1

Year 5 | Quick Maths | Autumn | Week 1 | Day 5 | Answers

11

9
84

5,780

16
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